Practice Questions: AO1 and AO2
Conflict and Tension 1918-39

Write an account… [8 marks]
1. Write an account of how the Versailles peace settlement was affected by the fact that the war was mainly fought in France.
2. Write an account of how the Treaty of Versailles caused problems for Germany.
3. Write an account of how Mussolini’s invasion of Abyssinia led to Italy leaving the League of Nations.
4. Write an account of how Hitler broke the terms of the Treaty of Versailles between 1933 and 1935.
5. Write an account of how the Nazis achieved Anschluss.
6. Write an account of how Britain went about appeasing Hitler in the 1930s.
7. Write an account of how land lost by Germany in 1919 caused anger among Germans.
8. Write an account of how events in Abyssinia in 1935-36 became an international crisis.
9. Write an account of how Hitler’s remilitarisation of the Rhineland in March 1936 became a success for his foreign policy.

How far do you agree? [16+4 marks]
1. ‘Clemenceau was the least satisfied of the ‘Big Three’ by the Treaty of Versailles.’ How far do you agree with this statement? Explain your answer.
2. ‘The organisation of the League of Nations meant that it was always going to fail.’ How far do you agree with this statement? Explain your answer.
3. ‘The League of Nations failed more often that it succeeded in the 1920s.’ How far do you agree with this statement? Explain your answer.
4. ‘Structural weaknesses in the League of Nations when it was first set up were the main reasons it was doomed to fail.’ How far do you agree with this statement? Explain your answer.
5. ‘The main reason other countries failed to react to Hitler’s foreign policy was their fear of war.’ How far do you agree with this statement? Explain your answer.
6. ‘The policy of appeasement was a mistake that led to the outbreak of the Second World War.’ How far do you agree with this statement? Explain your answer.
7. ‘The main cause of German dissatisfaction with the peace settlement was reparations payments.’ How far do you agree with this statement? Explain your answer.
8. ‘The Nazi-Soviet Pact was the main reason for the outbreak of the Second World War in 1939.’ How far do you agree with this statement? Explain your answer.
9. ‘The main reason for the failure of the League of Nations was the absence of the United States.’ How far do you agree with this statement? Explain your answer.
10. [bookmark: _GoBack]‘The main reason for the failure of the League of Nations was the rise of Hitler.’ How far do you agree with this statement? Explain your answer.
